Subject: Re: mistery
Posted by StefanoSpataro on Sat, 03 Sep 2011 22:08:52 GMT

View Forum Message <> Reply to Message

Hi,
the first 20 events are always aligned.
The number of events is equal to the number of events of the input file +1.

points -> 20

digi = points + 1 =21
reco = digi + 1 = 22
pid = points + 1 = 21

In reco macro the input file is digi (21), and points is added as friend.
In pid macro the input file is points (20), and digi/reco are added as friends.

| hope | made everything clear.
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